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Part A - General Hindi & English

1) ‘o e gy A1’ g9 AT | e Rdrwur-ag &7
ANE -

A) FTEaTRE

B) wRemwEaTE®

C) SeTaTs®

D) TuraTa®

2) "Rt sk swifer PR & @ @ as
¥ igaTHt 4% §?

A) fae

.B) WEgRT

C) =g

D) &=

3) ‘ﬂfﬂﬁaﬁaé’ﬁwsﬁaﬁaﬁmw
1 aTHT § Taifda qETaX 1 dal 7 g -

A) FA FH4T

B) 7 gL T

C) FTH THTH FAT

D) ®eTe | 98471

4) ‘AT H AIHTL FT TG AT+ FAAT-SHT 7S
219 ¥ g 21 AT § Taitha 9 % o wdl gera
2 -

A) 7% F At a1

B) 2z =maw it =gt awrn

C) ATt 7 BT & 7L aoret

D) z&t Tt 9 of Rerenr

5)'ﬁﬁﬁﬁ"ﬁ'ﬂﬁfaﬂ'ﬁﬁ%qm%
qafar a5 g7

A) FrEadt

B) =T&<

C) t

D) =&t

6) Frsferfer e a1 fmm a5 22
A) T fae forgar 2|

B) weft 32 @ 2

C) gLer g9 35T 2l

D) Afge s #r T @I ]

7) ‘sr &7 A o =T gh?
A) gfeast

B) =f@

C) z=w

D) ¥&R

8) FrefRrfRre T #1 3w Wt st 5 v e
3 T e 7 -

1. Mgt |a. R0 T
2. 98T qTHT 9897 |b. e =TT
3. et 9T c. AfeTa gAT
4, AT IBET (d. 3 &Y gl

A) 1-a, 2-b, 3-c, 4-d
B) 1-d, 2-c, 3-a, 4-b
C) 1-c, 2-a, 3-b, 4-d
D) 1-d,2-¢,3-b,4-a
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9)?ﬂﬁ@ﬁﬂﬁ&wwﬁqaﬁ
FIF-HT W T 82

A & gE g

B) ¥ 3«

C) Wt #

D) 3w =afy

TR I vy

10) & T ¥ T A ey A9 ST &1 9w A0y
¥ -] W TN 87

A) ¥ §9g

B) ¥ et

C) ST §

D) R &==

11) ‘HIg" 79 #7149 3@ T 31 39 a0 | b
= FIF-9T 872

A) FTEH

B) wita

C)zawg
D) 919

FT=EE F A ¥ 9% A A Ry g w6 F W
Tt Rt Fr g &

7T #1728 AT AT T () e )
FE TATE TFRAF FEOF F aeq grar g, o &
AraETA et Tmwr & UEt § o W ot @)
FritE 7t 2 & A amr qa ot § o) e
TFAT 7T AT TgrEt 41 @t ov s Ak A ¥
A &, F TaET wATe A5 & grav , FiH TS D
TR $t 1 ZAT T/ T FY A qgT Fd § A s
1 Freame Ze 1 e 21 T &1 s A S A

FW gr T &)

Resreray e it ey 7 kT AEer AT % 9t
iy arfoye aramvefter &1 wirft R % 7t 7 g
Rererr ¥ @At 1 qAAT F ATCATT AT A A
Rwrer ¥ awr I aut A At a7 o g &
Az (aréer) % At ¥ e T F A R F w1
Redt & zraraet v araTar a4 dmar a@ 2
e ¥ a1, @ A & EAT AT % 7 foeet
¥ it & Fra o owE @ 2, oreE ww e
TAETFAY FT AT THET BT Bl

FraTs w2 §1 ¥ I g9 Hew § iy
BYaT & e wg R ArEETRE ST AT S A
1 TR, ST Fae AT St 2, o 3HE AR A
o (gt e tarat) A FriaT g et 21 smfem
TS FT RERT A FT GG T=AT TAH g, T
& & AFAT, Y T AAT A SS-BIC T H AHS
TRT SR FT G g1 AT FT UFA F (0 T3
FEH ATEETAAT St 81 99 9ES, SN ¥ |@q qT
saeAdis w1 Fr gl A7 SHeadiE TSt 8
T FLH TEAT AR L, AN F HG T F9C
At =Ry a1 @ e v aRw e,
Tgasfier a1 saeefie IeTaT FT SFATEEE Y q K|
FATHL AT HSTRT FT S| TEAT AT

12) fs § & F1-07 UF IT TraE 7 AT F WO
wEE 87

A) ¥ T T O W T @ F AT

B) a & weftT Sqeisiier wary’ v srraea® 3T A
FAA AT

C) I H FRIFT # & 7 srfivermrst 0
wfafer e

D) wﬁ@ﬁm%ﬂr&aﬂrmml
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13)wﬁm-mﬁﬂﬁﬁmm%ﬁqm
TR WA 7

A) wiRnf s

B) WAt fRHTEA

C) it Wi

D) i "

14) firy YT 3 o AT H T9E H A 2

A) ¥ T o I qut A AT A F AR I 2
B) ¥ aw oY Iy awt s AT & F I &)
C) ¥ T < wgTEt BT T I €

D) & aw Rt ey 7 v ST 8)

15) sTamTT el A aog & S F T A A
A) FFATIAFIG@ATE

B) =if¥ 3T Faw Hag W AT §

C) 4% Ig 3nT 99T ¥ gL g 1t &

D) F4if% Ig Fa= 9T g F I T Il §

16) Feforad & & $I9 a41 & L& 7 TH T=0
FHETE?

A) FEEA

B) Sfta-sig

C) 7&r

D) z@™H

17) "Teal #1 77 a9 aF a9 § T@Ar 9=’ ar
¥ At ez £ g A=A A tarHt e I
7 AFAT 7

A) T

B) T7aw

C) Ty

D) st

—

18) 'R F Freor =AY A et gy sy Ty
%Wﬁﬂwﬁwﬁmmﬁm%
& HHCT 87

A) FTET

B) awf

C) Tt =2y

D) %=

19) Frwferfee arert # & & 19 Fi9-a1 22
A) IEHT Zof Fgehd THICAT Ff=d 21

B) SH! SHST FHT THICAT SATEAT 2

C) Tt ATTHT ATaTa<or Sufedd 2|

‘D)gg v g a T

20) A % & |y oe% F e e #T 8= 1
A) fBgw

21) FFR s = ¥ wW F@T & of B
I & FTAT &2
A) e aie Yast, e st #r 37
B) Fg & eTelt T qx LT w@Ar
C) et afaT T X, § TS ¥ A I F A
¥
D) SiE % BT FeT ST
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22) fe TRt § / Q07 v He-ay 87
A) Ww%ww%wgl
B) T}-g=aT AT &1 T Y 70

C) wrxa R ATTE F fi=r % e

D) Earastt  HEHAT I ALY AT

23) e & & AT 1 e 8-
A) STX

B) AP

c) affafaa

DELL

24) =7 & F1-97 AFeq Fearara® AL 2
A) e

B) & goiF

C) W=

D) 7T

25) #:1-4 fawey #1 Re-sier gafera 78 32
A) FTa-SfE

B) Am#re-fAa#Te
C) Arzz-fATET
D) ATAT-HaT
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26) Choose the meaning of the italicized idiom

used in the given sentence. After marriage the
friends met each other once In & blue moon.

A) frequently

B) sometimes
C) once in a while

D) daily

27) Identify the part of the sentence that has an
error: He told his friend that he walks twenty
miles daily for his school.

A) He told his friend

B) that he walks

C) twenty miles

D) daily for his school

28) Choose the sentence which has been
correctly punctuated:

A) The woman bought many vegetables:
brinjals, potatoes, tomatoes and
cucumbers.

B) The woman bought many vegetables;
brinjals; potatoes; tomatoes, and
cucumbers.

C) The woman bought many vegetables,

brinjals, potatoes, and, tomatoes and
cucumbers.

D) The woman, bought, many vegetables.

brinjals, potatoes, tomatoes and
cucumbers,

—

29) Fill in the blanks with the correct option:

Exams today for the degree students.

A) begin

B) begins

C) began

D) beginning

30) Identify the part of the sentence that has an
error: The safety mechanism failed and the
building catch the fire.

A) The safety : |
B) mechanism failed

C) and the building

D) catch the fire

31) Choose the meaning of the italicized idiom
used in the given sentence. He did all the
formalities quickly and didn't /ef the grass grow
under his feet as he sold his property
immediately.

A) do the work slowly

B) do hard work

C) hasten in doing the work

D) compete in work

32) |dentify the Antonym for the word - mixture -

A) ratio
B) separation
C) solution

D) ingredient

Page 6 of 48

-
-

\

-t W

" - Wi

™~

M A m w W

w un c wli

S

ol



17H

33) Choose the correct sentence from the ones

given below.

A) My friend bought blue, square, huge
antique, diamond earrings.

B) My friend bought a pair of huge, square,
antique, blue diamond earrings.

C) My friend bought diamond, blue, antique,
huge, square of earrings.

D)My friend bought earrings, diamondl
Antique! Huge, square, rare.

34) Identify the synonym for the word - recoil
A) rewind

B) return

C) backfire

D) launch

=i

35) Identify the synonym for the word - benign
A) favorable

B) antagonistic

C) indifferent

D) relaxed

36) Choose the meaning of the italicized idiom
used in the given sentence. He has been jobless
since the factory closed but his wife works as a
seamstress and keeps the pot boiling.

A) makes sure that the family is not starving

B) continues to light the gas for cooking

C) avoids the pot from over flowing

D) gets annoyed if the pot is kept idle

37) Identify the synonym for the word - freight
A) fear

B) shipment

C) locomotive

D) movement

Read the passage and answer the following
question.

The Komodo dragon (Varanus komodoensis),
also known as the Komodo monitor, is a species
of lizard found in the Indonesian islands of
Komodo, Rinca, Flores, and Gili Motang. A
member of the monitor lizard farﬁi_l';"\Ta_l:anidae.
it is the largest extant species of lizard, growing
to a maximum length of 3 metres (10 ft) in rare
cases and weighing up to approximately 70
kilograms (150 Ib).To the natives of Komodo
Island, it is referred to as ora, buaya darat (‘land
crocodile’), or biawak raksasa (‘giant
monitor’).Komodo dragons were first
documented by Europeans in 1910, when
rumors of a "land crocodile” reached Lieutenant
van Steyn van Hensbroek of the Dutch colonial
administration. The first two live Komodo
dragons to arrive in Europe were exhibited in the
Reptile House at London Zoo when it opened in
1927. The Komodo dragon was the drivi-ng
factor for an expedition to Komodo Island by W.
Douglas Burden in 1926. After retuminl'g with 12
mecimens'and two live ones, this
expedition provided the inspiration for the 1933
movie King Kong. It was also Burden who

~Page 7 of 48
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coined the common name "Komodo dragon".
Researchers have isolated a powerful

antibacterial peptide from the blood plasma of
Komodo dragons, VK25. Preliminary results of
these tests show that DRGN-1 is effective in
killing drug-resistant bacterial strains and even
some fungi. It has the added observed benefit of
significantly promoting wound healing.

38) The named Komodo dragon was coined by

A) Douglas Burden
B) Hensbroek
C) Gili Motang

D) Europeans

39) DRGN - 1 is obtained from the Komodo
dragon's

A) peptide

B) plasma
C) saliva

D) nails

40) The Komodo dragon is basically a

Read the Passage and answer the following
question.

Scholarly interest in earthquakes can be traced
back to antiquity. In 132 CE, Zhang Heng of
China's Han dynasty designed the first known
seismoscope. The Lisbon earthquake of 1755,
coinciding with the general flowering of science
in Europe, set in motion intensified scientific
attempts to understand the behaviour and
causation of earthquakes. From 1857, Robert
Mallet laid the foundation of instrumental
seismology and carried out seismological
experiments using explosives. He is also
responsible for coining the word "seismology”.
Seismology has revealed much about the
structure of the Earth’s core, mantle, and crust.
The English seismologist Richard Dixon
Oldham'’s studies of earthquake records in 1906
led to the discovery of the Earth's core. From

studies of the Croatian quake of Oct. 8, 1909,

the geophysicist Andrija Mohorovici¢ discovered
the discontinuity (often called the Moho) that
separates the crust from the underlying mantle.
Today there are more than 1,000 seismograph
stations around the world, and their data are

used to compile seismicity maps.

A) crocodile
B) dragon 41) The word "seismology" was coined by
C) lizard
i A) Andrija Mohorovici¢
D) giant
B) Zhang Heng
C) Robert Mallet
D) Richard Dixon Oldham
Page 8 of 48
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42) The discovery of the Earth's core was a

46) Choose the sentence which has been
result of studies by

correctly punctuated.

A) Bancirijx Mohoroveic h We stayed in Jaisalmer, Rajasthan: Indore,

B) Zhang Heng Madhya Pradesh: Surpur, Karnataka:

C) Robert Mallet before going to Delhi.

D) Richard Dixon Oldham B) We stayed in Jaisalmer, Rajasthan, Indore,
Madhya Pradesh, Surpur, Karnataka,

43) The first known seismoscope was designed tesfors golng fo.Delhl.

by . C) We stayed in Jaisalmer, Rajasthan; Indore,

A) Andrija Mohorovicié Madhya Pradesh; Surpur, Karnataka;

before going to Delhi.
B) Zhang Heng gong

D) We stayed in Jaisalmer: Rajasthan, Indore:
Madhya Pradesh, Surpur: Karnataka,

C) Robert Mallet

44) Identify the Antonym for the word - disrepute 47) Identify the Antonym for the word - debase
A) esteem A) halt
B) shame B) exalt
C) blame C) vault
. D) joy D) somersault
45) Identify the part of the sentence that has an 48) Identify the part of the sentence that has an
error:The fabric was so soft that it passed in the error: All the animals ran for safety when the lion
finger ring.

roars in the jungle.

A) The fabric was A) All the animals

B
) s0 soft that B) ran for safety

C)i
' ) it passed C) when the lion roars

D) in the finger ring D) in the jungle.

Page 9 of 48
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—
49) Identify the synonym for the word -
regurgitate
A) gargle
B) swallow
i 51
C) reiterate
the
D) vomit
Fa
50) Identify the Antonym for the word - postdate M
A) update All
'Pr
B) outdate %
C) antedate "
D) sedate
Ju
‘W
A)
B)
C)
D)
52
R!
bre
in-
Wi
A)
B
D
“Pag
—
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Part B - GK, General awareness &

Computer knowledge

51) Read the list of facts displayed below and choose 51) #i=r #t ¢ war q=ft %1 7 s TEt Ay &1 =59

the appropriate conclusion. Fi ‘
Facts: [GR2:

‘M lives in a flat which is not insured ‘M uF W # et g, Sawr fiur B T &
Al the flats on Barrow Road are insured with a3 TS & &sft w42t #1 ftvr “fiffww #av Famwr &
'Premium Cover' ATy Sfwet ' o Wi F A Sy e
Mr and Mrs ‘J' insure their flat with 'Platinum Risk' T a7 F7amaT 21

‘W' lives in a flat on Barrow Road ‘W' T T & uF ®e F @l gl

Judgement : e

‘W's flat is insured with 'Platinum Risk' W F s 7 AT =iy e F A A

A) True A) FET

B) False B) T

C) Uncertain C) &t Fg 74|

© D) Irrelevant D) fasma

52) There are six family members X, Y, Z, P, @ and 52) TRAR A sg &€ X, Y, Z, P, Q AHR, g
R, in which there is one married couple. X is the faTfea si=T &1 X, P %1 2P, YHRTHE Z QH
brother of P, who is the daughter of Y. Z is the sister- 7% &1 R, ZFT ST &1 Y, Z ¥ 77 &

in-law of Q. R i the brother of Z. Y is the sister of Z. X ¥ #TaT #17 &2

Who is the mother of X?

A) Z
A) Z B) Q
B) Q C)R
C)R D) Y
D)Y
Page 11 of 48
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53) Read the list of facts displayed below and choose 53) #% & ¢ =7 Tt #1 7¢ &l T et a5y T
the appropriate conclusion F: 55
ye-
Facts: T an
All salespeople working in pension sales have an Yo fe 7 HTH N AT T AR T F ooy U
insurance qualification FOTRE Arera 2 25
Defender Insurance Ltd sells only pensions and fR¥%ex geatm for. & Faer dorg a=rdft £ i 39% T 60
employs salespeople e F=T F WE
P is a salesperson working in pension sales P uF dw0 wH=Td '3: ST Yo Few H FTH FAT 3 ge=
L sells mortgages L =7 dr=rar &1 i’)h
B)
Judgement: e &
L has an insurance qualification L % 979 U S5 Aear 8 D)
A) True A) Tt o
B) False B) wera 56)
C) Uncertain C) 751 Fg &%l cor
D) lrrelevant D) fEgwe cor
sel

54) Study the given information carefully and answer 54) &t € ST 7 SAIEF FeqTT FE AT A BT gy

the question given below: T 7 FT IAL S: -

Titu is toward the south of Sonu and Ranu is towards &g @ & femr &t & & 3w T 9 F 9 #7 &7 2

the east of Sonu. T F ey § Az g R # &2 “Bisi

In which direction is Titu with respect to Ranu? . A
boy

A) South-east A) =farorgd .2

B) North-east B) STX-7d 1.

C) South-west C) zfEror-afEry

D) East D) @@ A)
B)
C)
D)

Page 12 of 48 — "Page
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55) To qualify for job P, the maximum age can be 30 55) A+ p % fore srga wmw # % e, afteram 3
years, 10" standard marks should be more than 50% 30 atf & wraft &, 10 f % & 50% # wfers Zrr Rw
and work experience should be at least 3 years. To it Frafawa wx & 777 3 nf #7 T TfRw A Q F
qualify for job Q, one should have a minimum age of A srgar y ot ¥ for, = 25 7 At A 3
25 years, 10tstandard marks should be more than =fRw, 10 f ¥ st 60% & wfers g snRT A F9 4
60% and work experience should be at least 1 year. Fw 1 af &7 FTATTHa T AR 3 ¥ 10 f 7 52%
Wayne has 529 marks in 10" standard, age is 27 i, 3aet 35 27 anf sitw g% arer #15 A FATTAT TE1
years and no work experience. For which of these &1 53 & i #ft rfat 3 forg a8 7177 22

jobs does he qualify?

A) Only P A) #Fad P

B) Only Q B) ¥« Q

C) Both P and Q C) Pair QaFf

D) Neither P nor Q D) AP ARAZ Q

56) Given below a statement followed by three 56) 1 T U oA IHF are @ Fewd Ry aw )
conclusions. Choose which all Sfr ey 7 59w F06 99 1 HIAFTHA oy 57
conclusion/conclusions follow the given statement by 1T F¥ FT ST FLAT /HL &

selecting an appropriate option.

T TOT F W7 A ATer 50 FTAT A F FaT 40% IO

Statement: Out of 50 students who have attended the g7 &I
exam, only 40% have passed.

e
Conclusions: |, I g1 ATt §, TEfHRAT § AT ASS A
|. Among those who have passed, there were more 1. 20 BT 7 T ot €
boys than girls 111, forger o, Il witera srferss =m

Il. 20 students have passed the exam
lll. Last year the pass percentage was more
A) Fae || STTHTOT FIAT §

A) Only |1 follows B) 11 3/ 11l STaTor F7d &
B) Il and 111 follows C) #1§ oft srerer 7 Hear
C) None follows D) #eret | SIEOT FLaT &

D) Only | follows

Page 13 of 48
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57) In the following questions, mark: 57) frafrfe wr & Rfer 7 50}V
1, if statement | alone is sufficient to answer the 1, af2 o= | sy HamErwram I F Ru i ) take
problem. 2, af T || et B wwveay 7 g 3 R aata &) Salm
2, if statement Il alone is sufficient to answer the 3, a2 % | iz 1| 214t T forerrare, wweaT FT ST 3 )
problem. ¥ form quiy & B) M
3, if statements | and Il both taken together are 4, 7f2 Fgw| g,ﬁ-( Il & e, wHET A IR I FRw  C) N
sufficient to answer the problem. Tty T &) D) P
4, if statements | and |l taken together are NOT
sufficient to answer the problem. 3a T 12b F7 sitaa =T 27 =
What is the average of 3a and 12b? :Laa:;:;gm heEimtra ::lw
l.a+4b=20
Il. a and b are posiltive integers whose sum is 8. Eight
A) 1 A) 1 aroul
B) 2 B) 2 e
g 3 C) 3 e
D) 4 D) 4 e
is fou
How
58) In the following questions, mark: 58) fRaferfea w #, Ffeaa #¢
1, if statement | alone is sufficient to answer the 1, 7% F97 | AT BT THET &7 IAC A F fore 777 z)} i

problem.

2, if statement Il alone is sufficient to answer the
problem.

3, if statements | and Il both taken together are
sufficient to answer the problem.

4, if statements | and Il taken together are NOT

2, 7% F9 || e £ GHEAT FT IAC 34 F g 9777 2
3, 2 o | i 1| St Ay e, Fwe T ga ay O
¥ forg wafa €1 D)1
4, 7f2 o | 3 || ey FReTehe, IWeaT 7 39 I & A
qafH &l 3l

sufficient to answer the problem. AT P W &edT 87
Is P an even number? I. P, 3 %7 1[0 &)
|, P is a multiple of 3. I1. P % e ofi o g
Il. P has exactly three factors.
A) 1 A) 1
B) 2 B) 2
C) 3 o3
D) 4 D) 4
“Pag:
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59) Which of the following statements can be used to 59) Rfyfre % & a a1 Fa= 78 aww v faviy a3

take a decision on this problem: Who is the mother of % ore sevarer far st g &: wEwE 79 T 82
Salman?

A) Devi is only aunt of Salman A) Tt germTT FY TFHAT AT

B) Maya is sister of only maternal aunt of Salman  B) wrar gepwrer #Y wawr aiie 1 787 §
C) Noora is brother of only maternal aunt of Salman  C) 7y et £ THATH AE FT ATE §
D) Problem cannot be solved . D) wwe gt 1t Y st et €

60) Study the following information carefully and 60) fsfafRre gemreit #1 FATTIAT AeAaT FL AT A
answer the question given below: few T wpop 7 S F:

Eight persons A, B, C, D, E, F, G and H are sitting stz =1fw A, B, C, D, E, F, G AT H TF MATHIL 28 F
around a circular table each facing towards the A A ¥ § ol AT =3 g FT AT HS FH AT R
centre. H s third to the right of E who is an immediate H, E %zt s & fre<r , St D #71 fAweaw 7= 81 E,
neighbor of D. E is second to the right of C. Bis on C ¥ Tt 4 & gek v X 1 B, G ¥ &% arff 77w
immediate left of G. D is second to the left of B who 21 D,B ¥ arff sk & g@er 8, ST F F IO IT AR
is fourth to the right of F. gl

How many persons are sitting between Aand F?  AiTF e atr 3 €2

A) Zero A)
B) One B) ©F
C) Two

D) Three

“Page 15 of 48
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61) Study the following information carefully and
answer the question given below:

Eight persons A, B, C, D, E, F, G and H are sitting
around a circular table each facing towards the
centre. H is third to the right of E who is an immediate
neighbor of D. E is second to the right of C. B is on

61) PR aeri F1 ST s e Ay 62
f2u U o FT I F: the
a5 55 A, B, C, D, E, F, G dtHus gve s [ 2
it e B A THE A S B H, Ev e A dn A
& St D %7 fAeheaw 9816 21 E, C % T/ & g0 #4199 Je
8, GFETAIL D, BF AN A AL FFad O

3 |
immediate left of G. D is second to the left of B who & =TT g A
is fourth to the right of F. e
Who is third to the right of G? G ¥ 21 q dE #4987 3
u.
All
A) E A) E
mc
B) F B) F
C) G C) G
A)
D) H D) H
B)
C
62) Given below a statement followed by three 62) = 1% FuT o7 SEF a7 el Ruaw g
conclusions. Choose which all 3R e 51 =99 55 T4 6 FEFUHET [Fohd =20 :
conclusion/conclusions follows the given statement T ¥ FT FET FLAT &/ 2| _
by selecting an appropriate option. 64
F: T S e 1 g g Sfad o e R
Statement: Royan is a student of Xavier's school. All &TAT 7 RfEaem F ary oy Iof bre
students of Xavier's school passed the exam with A%t lay
distinction. |, Jrame R & | odiET I He
Conclusions: I1. Srfaref et §, et Y 9 Fga SAeT 2

I. Royan passed the exam with distinction

I, St e Y wfveT FRft s g fidial A

IIl. The school fees is very high in Xavier's school B
IIl. No other school has the reputation that the Xavier C
school has D
A)-None follows A) F1E ¥t SITETIT TR HTaT
B) Il and Il follows B) I1 ST Il STReer 32 §
C) Only I follows C) FareT | ST FTT §
D) Only I fgllowsJ v D) Faret || ST Tt §

Pag
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Y 63)Read the list of facts displayed below and choose 63) 13 4 ey gt 1 7 S AT ——

the appropriate conclusion: -
&  Facts: T
T Al claims handlers talk to customers Tft 5 Soref e & ATA 7 31
% - Jdoes not talk to customers J T & v Akt A B
¥  Only administrators do not talk to customers Fae treffee areat & AT T F B
All administrators have been with the company for Tt et et 3 @ 1 af T E
less than one year
e
Judgement: mﬁwwmﬁ%wwﬁﬁm%%
All claims handlers have been with the company for
more than one year
A) True A) H_&&
B) False B) T
—  C)Uncertain C) 78l %2 F%d|
k D) Irrelevant D) fema
q ¥
64) There are six family members X, Y, Z, P, Q and 64) Rax#gg aeea € X, Y, Z, P, Qs R, Fwd =
fi R, in which there is one married couple. X is the RaRIMTAIX, PFT AE I P, Y F T €, Z, QH
brother of P. P is the daughter of Y. Z is the sister-in- 7% 81 R, ZF 915 81 Y, Z Fit a8 2
law of Q. R is the brother of Z. Y is the sister of Z. R %7 P & 77 fRear 3,,
How R is related to P?
A) Brother . AywiE
B) Uncle "
C) Aunt —
D) son
D) T
_PE‘I? of 48
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65) Study the given information carefully and answer 65) &} & STFTE FT LATAYES SEqw FL 3l #’r%'féq
the question given below: T 97 T ITL
Sonu walked 20 m towards south, took right turn and &1 7 zféror £t & 20 Hfrex Fr ghr ag 1, fe M e

ans

walked 30 m. Then, he took a left turn and walked 15 30 fiex #t gt @7 Ftl & 387 ©F argt w@rg fry ok ::
m. Again, he took a right turn and walked 10 m. 15 ez == f%T 387 v% Tt A1 forr &7 10 dfixn -
Finally, he took a right turn and walked 35 m. TF =T AT H, IET TH Hm'f e form o 35 e $ .
How far was he from the starting point? T agdn =
TE geardt g & ﬁrd-rﬁ T an? i
A) 30 m Que
B) 35 m A) 30 Htex and
C)40m B) 35 #fex A
D) 45 m C) 40 ez B) |
D) 45 #Htex C)l
D)
66) Amit is the brother of Rajan and son of Kamal. 66) sifia, T %1 WTE AT F0eT F7T T 21 THA, F99 ___
Rakesh is the father of Kamal. How is Amit related to T faaT 81 1 F1 Taher & 7 dayy 37 68)
Rakesh? ans\
A) Father : A) foar
Eigh
B) Son B) T )
C) Grandson C) wrar -
D) Uncle D) == neig
imm
is foi
Who
A)E
B) C
)t
D) E
“Page"
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67) Directions : Read the following statements and
answer the questions given below:

Radha and Rahul have two children Divya and
Simmi. Divya got married to Anuj, who is the son of
Madhu and Ramu. Reshma is the daughter of Anyj.
Anuj's sister suma got Married to Subodh and Tarun
and Aman are their sons. Tarun is the grandson of
Madhu and Ramu.

Question: What is the relationship between Aman
and Reshma ?

A) Uncle - Niece

B) Father - Daughter
C) Husband - Wife
D) Cousins

67) e, Rafarfea ot 71 o sl fi R 7o ot ¥
3T &

T A g F & gy & R s Rmfh e ¥ amw
& ot A oft, St wreg ke v v e ) e e £ 3H
Bl T F¥ T T oy wEy & g A e A
AT ITF FT T qEU Wy AT TR F TAvATR B

T A ST 9T F e T gag 87

A) =T=T Aefisft

B) firar ft

C) afa weft

D) WA, FY ATE- A"

68) Study the following information carefully and
answer the question given below:

Eight persons A, B, C, D, E, F, G and H are sitting
around a circular table each facing towards the
centre. H is third to the right of E who is an immediate
neighbor of D. E is second to the right of C. B is on

immediate left of G. D is second to the left of B who
is fourth to the right of F.

68) Fuferfaa gemmstt &7 eqmgds sreaaw F¢ 3l #i9
Re gy s &

az=fRFA B, C, D, E F, GHTH TS N 2aa &
T AR §5 ¢ T TAF =AfE Fz Fi A gg 7 37 2
H, E ¥ arft & ey €, st D &7 Rseaw asw=ft &1
E, C ¥ gt s & T & 9T 81 B, G ¥ &% arff avw
HDBFTH IAEUE, MFFIW I AT
2l

Who is fifth to the left of A? A ¥ qrdt & qi=at B §?
A)B A) B
B)C B) C
C)D C)D
D)E D)E
“Page 16 o748
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69) Study the following information carefully and 69) Frafarfaa STA=FTE FT LATAYEF steaaa #¢ siw $iy
answer the question given below: R o gt F e ¥ i
Eight Persons J, K, L, M, N, O, P and Q are sitting a1 =135 J, K, L, M, N, O, P &% Q T% J9ma1X 3w & the 2
around a circular table each facing towards the =i 3z ¥ g 3T 399 & Woi% ¥z &t ¢ T T

centre. P is not an immediate neighbour of K. Nis an 81 P, K #T fAsean v2i€t 75f £1 N, M &7 fFeaw 7o cack
immediate neighbour of M. J is fifth to the left of K. M 21 J, K ¥ ard & gt=at 21 M, K ae J #1 RFeas a5 Al ¢l
is not an immediate neighbour of Kand J. M is on the a:{’f% M, P % &t arft A2 0,P W@ﬁm‘qm -

immediate left of P. O is an immediate neighbour of 21 L, J T feaw w2t 7 £1 only
P. L is not an immediate neighbour of J. N % a7t S & wismar F 22 Al
Who is fifth to the right of N? | ey
MR A) K Judge
) B) L s
Cc) O Cc) o
0) @ D) @ A) Tr
B) Fe

70) X is the sister of Y and daughter of L. L is the 70) X, Y fiaga sk LA i L SFramssiews O Ur
brother of S and husband of W. P is the father of wfd &I P, S#T T & Ry Reeai # & Y fr s D) Im
S. Who among the given options, can possibly be Y's SI3/2a¥ Tsaq: F19 &1 a1 87

mother's brother-in-law?

AP A) P
B)L B) L
COK C) K
D)S D) S

71) Joseph has three daughters and each daughter 71) e it i T § SR s i F O s
has a son and a daughter. The family consists of only Tt €1 TfRa® # Fad Tg 9 Bl UER § ¥ §

these members.How many male members are there fa &2

in the family?

A) 4 A) 4

B) 5 B) 5

C)6 C)6

D)3 D)3
Page 20 of 48 ___/T:,-;é-é—z.?




J7H

__..—--—"'"—-__—*“-\_

72) Read the list of facts displayed below and choose 73) 4y o oy et Ay 9F AT AE AR AT

the appropriate conclusion:

Facts:

All claims handlers talk to customers

J does not talk to customers

Only administrators do not talk to customers

All administrators have been with the company for

less than one year

Judgement:

‘J" is a claims handler

A) True
B) False
C) Uncertain

D) Irrelevant

w

ey
T oy Seret et & AT FE B
' ITERT & a1 g Far 2

e UeRifrerer et & AT gt F
Y iy et vy o @ A 1 T AAI

e
J' TF T Eee 2

A) w5t

B) T

C) 7l Fg &
D) faera

@:ffD@é'

CO4~

mi\??""Dl
.l

1
L))

\/

ol

57 ! I}&B-sP
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73) Read the following information and answer the 73) fwifda g T2 dT = Ru vt F 3= 2
question that follows: 74) Wh
take a (

The post of the Chief Security Officer (Male) of the foeeft AT HEATET ¥ qET AT ATFHEY (Tew) Fy Of WO r
Naval Headquarters in Delhi is vacant. Applicants 7= fzF g1 =3 ¥ Rrw sr3eFt 71 Rwifea adf Frqm A) Bot

have to fulfill the following criteria for selection: W@rm: B) Pai
C) LCA

i) The applicant should be in the age group of 35-40 i) AAeF 1 797 2003 F 35-40 T F g AU H A D) Prol

years as on 1¢ November 2003. In case the applicant =z AT AR SCISTai A AT g FadT g’
belongs to the SC/ST category, the upper age limit is # gz 3¢ T 44 T qF /AT AT 75) Stu
relaxable upto 44 years. ii) FMAeF @IAF LT AT TF ARG FHATL B0 the que
ii) The applicant should be a graduate and a service E1FAY From h
personnel. i) Y e i) T i) F I FA AT S forf@d = Then st
iii) Applicants satisfying both criteria i) and i) are to # &3 s 3& ST FLAT R turned

appear for a written test and clear it. iv) ST araeE frfra st Isif 0T, 3§ TF araiE south 2
iv) The applicant who clears the written test should S &t AT Iug F ww A= gem and co
appear for a physical test and medical check-up. V) S rieF AT w7 F fe grar s 77 sy How far
v) An applicant who is found medically fit is to go for HTETEH ¥ forg s v siftw == F oo 9w 35,
the final interview and clear it for the final selection. STETEHTT &1 Iefiof FTAT g B) 90
vi) An applicant who has worked as a security officer vi) T% a¥eE Fr 1 fRlt g aftFd S s H & 4o
earlier is to be referred to the Board of Selection for F1 f&aT &1 3@ AR aETER F e A T A F D) 120

the final interview directly. ‘ qTe W e s

vii) Applicants who do not meet the above criteria are vii) ST STIEE IUK aat F O T F o Io AT

to be rejected. L % Ry s 76) Stuc
the que

Mr. J is 37 years of age as on 1% November, 2003. 1st 73 2003 1 oft J it g 37 af ) TR ARE | OASW

. and
He has passed the medical check-up but could NOT -9 T FT o . 3 faw AT I & W nlkwa
walked
dear the final interview. He holds an M.Sc in @ S TrT ST & wumelt 1 feft &: 3

25m. F
Chemistry. He is:
m.
" ' \
3 In whicl
A) Selected A) =afaa T
B) Rejected B) srediga & T wan A) Eas
C) Referred to the Board of Selection C) =4 A1 F YR AT T B) We
, C
D) Data insufficient D) SF¥ T 7E & ) Nor
D) Sou
Page 22 of 48 __~ Page 23
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74) Which of the following statements can be used to
take a decision on this problem: What is the product
of two natural numbers P and Q?

A) Both P and Q are multiples of 10

B) P and Q are distinct

C) LCM of P and Qiis 37

D) Problem cannot be solved

78) B % & v a1 o g awe o7 Fofa &9 ¥ By
ST fir 7 et & <Y TrgfaE dernt P Q #
T g7 &7

A) P 3l Q3T € 10 ¥ T €

B) P 3t Q s &

C) PamQ#TLCM 37 B

D) wrwrea ger et ¥ I bt &

—

75) Study the given information carefully and answer
the question given below:

From her house, Geeta went 80 km towards east.
Then she turned north and covered 20 km. Then she
turned east and covered 20 km. Then she turned
south and covered 80 km. Finally, she turned west
and covered 20 km.

How far was she from the starting point?

A) 80 km
B) 90 km
C) 100 km
D) 120 km

75) & ST FT SATAGEF FeATA B A A 2y
T 7 F7 I 2

AT T §, ffar o & 80 Fanft i b A I A A
e € shre 20 Pt A g o ) TR g F T ATHS
3 20 Reft Y gt @ £ e @ T AT {ET AT
80 Faeft Y ot arr ) sy 3, wfRrw ¥ AT G2 g, I
20 Faeft it g6 7 1

g et fag & ot gz 17

A) 80 km

-B) 90 km

C) 100 km
D) 120 km

76) Study the given information carefully and answer
the question given below:

Tejaswini walked 20 m toward north, took right turn
and walked 25 m. Then she took a left turn and
walked 10 m. Then, she took a left turn and walked
25 m. Finally, she again took a left turn and walked 5
m.

In which direction was she moving finally?

A) East
B) West
C) North
D) South

76) $ & TAFT FT LATATESF HEGIT FL A A Y
T T FTIAL R

ForfRaft & I T AT 20 Hex i T a7 N, s
a1d gEa 25 HeT A T 73 F e ag arff aw
s 10 e 1 T a7 Fh =, 397 v st 9z R
s 25 Hex f g 77 1 s |, I e F vF ant
e forar o 5 #iex ==hh

siqr o ag e e & 9w Y oft?

A

B) wfarm
C) S
D) aferr
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77) Read the list of facts displayed below and choose

the appropriate conclusion

Facts:
All salespeople working in pension sales have an

insurance qualification

Defender Insurance Ltd sells only pensions and
employs salespeople

‘P’ is a salesperson working in pension sales

‘L' sells mortgages

Judgement:
All the salespeople at Defender Insurance Ltd have

an insurance qualification

A) True
B) False
C) Uncertain
D) Irrelevant

77) % & E 7w g 0 A e =
¥

qe;

Sor & § T HA AT Tl e FAT F v
ZATH AFFAT &l

Rez eia fr. & Faa Yo =t 2 3l 35%
a7 FHAT 8

lp*@ﬁ?ﬂ'*ﬁ?[ﬁg. Gﬁ'&ﬂ?%ﬂ?ﬁmwal
L’ 9T I=aT B

Ao
et deatia o, & w1 F21 aror oft & wfafia s
ITH TF AR TR 2

A) wEgt

B) o

C) 7gl &g g%l
D) faEw=

78) Read the list of facts displayed below and choose
the appropriate conclusion

78) = &t € qew T F 9 A% "L A =T
FL: '

Facts: a=.
All salespeople working in pension sales have an o &ed & FIH FIA a1l T T FHATTCAT & IT9 @
insurance qualification ZoTa ATAT 2|
Defender Insurance Ltd only sells pensions and fe¥hetZeaiia for. &) Fae o J=e & 7 fe| FHAN
employs salespeople F1 A FATE |
‘P’ is a salesperson working in pension sales ‘P UF Few FAAT g, S GO qoW F FH FTT
‘L' sells mortgages L 0T ST 2
Judgement: fss:
‘P’ has an insurance qualification P 3 T TF T AT &)
A) True A) T
B) False B) e
C) Uncertain C) et % Tl
D) Irrelevant D) fawm
_F"-a_Q;M of 48 =¥
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79) Which of the following statements can be used to 79) fasy # & e @7 F T8 THEAT T fmfar 77 % A
take a decision on this problem: Is 2P>Q? (If both P weywyer firay w7 @t &: F47 2P>Q 87 (@ Pz Q
and Q are positive) D} T 2)

E) A) P <g< pan=""></q<> A) P <g< pan=""></q<>
B) P=Q B) P=Q

¥ c) P+Q =100 C) P+Q=100
D) Problem cannot be solved D

3 ) e gt v
80) Read the list of facts displayed below and choose 80) #% &t 7§ qear gt #1 7& ¥l gt fAed F1 39
the appropriate conclusion. : X

=

T
Facts: =
‘M’ lives in a flat which is not insured M U e § @t g, e #rr 71 g @)
All the flats on Barrow Road areinsured with % As ¥ @sft et 1 a7 Hifmw Fa7 F @17 2
'Premium Cover' st qgr st 0 e wee F dn e e
Mr and Mrs “J' insure their flat with 'Platinum Risk' #t a1 FzamaT 21
‘W lives in a flat on Barrow Road W & T ¥ UF ForE § Tl 8l

Ll Judgement: TR
Mr and Mrs ‘J' do not live on Barrow Road s ot sfieet U’ & e 9T AE @ 2
A) True A) &
B) False B) e
C) Uncertain C) A&t % T4
D) Irrelevant D) e

& 17 - "
Enge Ran—e_
La-o~>—
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81) Given below a statement followed by two
conclusions. Choose which all
conclusion/conclusions follow the given statement by

selecting an appropriate option.

Statement: Mani likes dolls.

Conclusions:
|. Mani does not like video game

Il. Mani hates riding.

A) None follows
B) Only | follows
C) 1and Il follows
D) Only Il follows

81) 3w Form six 3 e 21 v R o 3 s
BT &1 s w3 i e Rt fo o
T T STEL FAT AT B

AT A F¥ 1Ry e )
frref:

. AR Ft iRy iy iz T 2
1. = Y el & 7w 21

A) FrE oft argeror wET FeaT
B) e | srqereor FaT &
C) 14 1| srgaeor F2 §
D) et || srEor 7T §

82) In the following questions, mark:

1, if statement | alone is sufficient to answer the
problem.

2, if statement Il alone is sufficient to answer the
problem.

3, if statements | and Il both taken together are
sufficient to answer the problem.

4, if statements | and |l taken together are NOT
sufficient to answer the problem.

How many votes did the winner received in an
election? (assuming none of the votes were invalid)
I. There were four candidates. The winner received
5,000 votes more than the one who received the
least. .

[I. The one who received the least vote; received
50% less than the winner.

82) fRafarfea v &, = =+

1, 32 Fa7 | srber & e #1993 & g wata 2

2, I F97 || SF §F HEIT 7 I9C a9 F (¢ T4 2|
3, af2 Fa | 3T || S ar e, 9T F1 Se A
F fore gatw &)

4, T2 F | 0 || 7 FAemshe, e FTIm e F o
Taie g &

e & fasrar #r fFaq 9 e (g8 o ge &
oY dfe AT AT 47)

. gATa & 9T Iuftea ) f&5ar F 599 9 9 9"
FA AT § 5,000 912 AfEF e

|l =9 F 91 ITH FLA 9190 i, f&9ar & 50% F9 9

T gl

A) 1 M
B) 2 B) 2
C) 3 c) 3
D) 4 i
Page 26 of 48 S
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83) Study the following information carefully ang 83) RrefyfRr srasrd 7 gaTAgA S AATT 7 A=
answer the question given below: R T it ¥ g &

Eight Persons J, K, L, M, N, O, P and Q are Sitting w5 =k J, K, L, M, N, O, P oz Q UF AT 2 F
around a circular table each facing towards the Ty s 4% & afe gH A AT ¥z ¥ AT HE FF 421
centre. P is not an immediate neighbour of K. Nis an & p.  #7 fraresy qaeft 81 &1 N, M F1 Feas T2t
immediate neighbour of M. J is fifth to the Ieft of K. M &y, K % at & terat &1 M, K & J 1 fAeaw g2t
is not an immediate neighbour of Kand J. Misonthe it &) w1, p ¥ & ardt @< &1 O, P 1 7% [RETCL
immediate left of P. O is an immediate neighbour of wgyf 21 L, J %7 FAepead q2rdt T &

P. L is not an immediate neighbour of J. J ¥ gy & M o1 e T E7

What is the position of M with respect to J?

A) Second to the left A) T F g
B) Third to the right B) ar¥ & fer
C) Second to the right C) =¥ & gaT
D) Fifth to the left D) a1 & =i

84) Study the given information carefully and answer 84) <t 7§ STAFTE T ST AETTT L AT = fRu
the question given below: T T FT I &

From her house, Geeta went 80 km to the east. Then s =T &, fiar o % 80 et ) fhe ag I #i A
she turned north and covered 20 km. Then she ¥ wEdiw20 Fft Fighram £ fre ag @ A A ST
turned east and covered 20 km. Then she tumed 3 20 ffi it & 7@ e g R 6 &k g3t ek
south and covered 80 km. Finally, turning to the west, 80 fft i Tt & #11 siq #, wfar #t AT g2 g, 39

she covered 20 km. 20 fft $it g 7@
In which direction was she moving now? e 7g e e & @ & 42
A) East AT
B) West ~ B)yaRm
C) North C) 9w
D) South D) afarer

e
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85) Which of the following statements can be used to 85) e & 4 #1 &7 Fu 7@ GEET T [T 9 F fyy
take a decision on this problem: How many sons Iyt fa 7 et twlr F R @ &2

Farid has?
A) Farid has three daughters
B) Each of Farid's four daughters have two brothers

C) The number of sons Farid has is two less than
the number of daughters he has

D) Problem cannot be solved

86) The famous Sanskrit treatise Lilawati, is written
on which subject?

A) Civics
B) Geography
C) Mathematics

D) Economics

A) Tz $t i afeai &

B) Wik fram AR § ¥ muF AT AT A &

C) Ttz ¥ ot it ey gufy Afeai Frdem A AFAE
D) sweqy ger &1 Y w1 aFAT &

86) witrg wrega 1 sfferat, far e g2 fora 1 22

A) AT e
B) ster

C) forg

D) srdferrer

87) Which of the following is NOT a fat soluble
vitamin?

A) Vitamin A

B) Vitamin D

C) Vitamin B

D) Vitamin K

87) frmfrfere & & == a1 aar gemsfe Faffa adi 82

A) faarfas A
B) fF=fm D
C) fRarfaw B
D) fa=rfa K

88) Identify the name of World's first scientoon book 88) 3&aT 2020 # wTdY, "rizfAwe =f. Wy ey
written by scientoonist Dr. Pradeep Srivastava g1 feifee fooa it wgsft amiza qeaa w1y TEETH

released in October 2020.
A) Rest in Peace Covid
B) Bye Bye Corona

C) End of COVID 19

D) Good Bye Corona

A) T 3 i Fifae
B) a1 aTX FIHT
C) ¥z 3t COVID 19
D) T8 a1 FITAT
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g9) "Scientists have discovered the remains of 89) “Asrfaat 3 wrera ST ¥ HarH G AL AW F
humankind's oldest mammal ancestor - namely sy # ot it & P AW AR AT AT 2

Duristotherium newmani that lived 145 million years <Y 145 faferaer at yger shifae or*| 30 @ae # @t faweq
ago". Choose the CORRECT option in this regard. 7

A) A tiny rat-like creature

A) TF gre & g it agg gmoft
B) A tiny squirrel-like creature B) us @re frergdt it awg woft
C) A tiny dinosaur-like creature C) U &Y Tra=TE $¥ avg wroft
D) A tiny ape-like creature D) U & & A it g wroft

90) How is 'Gaganyaan' related to Indian Space

90) "TRTATH" Wi srafve Friww ¥ FH dEfEa 32
Program?

A) Itis India's first communication satellite A) TE AT FT qEeT ST ITIE &
B) It is a Global Positioning System developed by B) @ ISRO g fa e U witaer Tifvrertam ez &
ISRO C)qgwmqgﬁTﬁ%’QﬁWﬂﬁﬁ&Tﬁ?ﬁ%

C) Itis India's first indigenous human space mission ) 7z ggeqfa aF T FT TET e

D) It is India's first mission to Jupiter

91) In which range is the famous peak (K2) Mount 91) sf&g T (K2) wrsE wiefaw aew G dgeer &

Godwin Austen located? oo 82

A) Pir Panjal range A) T e @
B) Ladakh range BEAEEESU

C) Karakoram range C) FHIH H@AT
D) Zanskar range D) SITeR @et

92) Which of the following is NOT related with 92) faeifam B & Rafafa & & % o gafiw 78 27
Vitamin B?

A) Ascorbic acid A) et T
B) Thiamine B) et

C) Riboflavin C) T

D) Niacin D) At
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93) Which anti-inflammatory drug was used 93) AT & WAR ¥ 3o F v A oA dwn
extensively for treating cattle in India, found to be =7 =y STOF TG A TTAT BT ST T, o B RSk

lethal for vultures leading to their rapid decline in T s qreft 78 R Freor o% wraTd & 0 3

population? e s
A) Erythromycin

A) Thviarede
B) Streptomycin B) ®r<mrzfam
C) Diclofenac C) T AT
D) Penicillin D) Afafref

94) Who among the following famous singers was 94) fmfafas wfag mast & ¥ B geona<a o

posthumously awarded Padma Vibhushan Award- fasquor qeesre-2021 & wwfaa B mm?
20217

A) T. M. Soundararajan A) &. un. "Higeasm
B) Wajid Khan B) aTforg @™

C) S. P. Balasubrahmanyam C) uH. dt. STagqarHvaw

D) Bhupen Hazarika D) ¥u= gATHRH

95) When Mangal Pandey turned rebel, he was a 95) st s iz Rt & g, &t 78 34 ¥ 99 T4
sepoy in the 34th Native Infantry Regiment that was ¥frifz & ws Rt &, 7t favr e o ooy am?
stationed at which place?

A) Lucknow A) TETE
B) Ballia ' B) aferr
C) Barrackpore C) &
D) Meerut D) #%&

96) The successful land revenue system of Akbar is 96) AT H R -ToE yorelt # A I

attributed to which of his nobles? fAafrfe # ¥ e Jg g st & smar g?
A) Birbal A) faw
B) Raja Man Singh ' B) Tt W féfg
C) Raja Todar Mal C) TSI ErET A
D) Khayyam D) @™
sl
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97) Where is the famous Virupaksha temple located? 97) Wit faremer #faT et feaa &7

" A) Halebidu
B) Papanasam
C) Badami

D) Hampi

A) gafag
B) 9roTEH
C) aramft
D) gwft

98) Which state assembly of India passed

98) Tz €t i Trow RrarraaT ¥ 2020 #, 77 ¥ R

'Decentralisation and Inclusive Development of Al A TRy (Rramfy, st s i) w1 g
. s i T
Regions Bill' in 2020 proposing three capitals Fex BT Tt et #r RAFSwor sk mn%)r ft fFm

9

(Legislative, Executive and Judicial) for the state?
A) Andhra Pradesh

B) Haryana
C) Punjab
D) Madhya Pradesh

s ot fmn?
A) g wEeTr

B) gfamm

C) gstrar

D) wex waer

99) Which of the following is a refrigerant that is 99) Fafafem & & g #1= a1 Thisie § 1 aWaR

commonly used in a domestic refrigerator?

A) Freon

B) Oxygen
C) Sulphur
D) Nitrogen

e ke & SugT R e 32
A) SRt

B) stiafte

C) %

D) ATEE S

100) What is the average duration of time taken by a

100) 7@ fsfE gfar f @28 aF X T

newly developed world’s shortest X-ray laser pulse, 9« g forg T wrw Y st srafey w7 &, SR dedt
hat will allow s to observe electrons in slow motion? T & gzt 3 Fteror e Y srgafa TT?

A) 63 attoseconds
B) 53 attoseconds

A) 63 attoseconds
B) 53 attoseconds

C)43 attoseconds C) 43 attoseconds
D) 33 attoseconds D) 33 attoseconds
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101) Which of the following mountain ranges is also 101) fRsffea & & B oda ST Y HETET FET AT

called as Sahyadri?

A) The Eastern Ghats
B) The Western Ghats
C) The Satpura Range
D) The Vindhya Range

L

A) 7ot urz

B) afarft ez
C) FageT =
D) faexr s

102) When the roots of a plant move downwards in
the direction of gravity, it shows

A) thigmotropism

B) positive geotropism
C) negative geotropism
D) chemotropism

102) v oy it 51 TR £ Rar #F A= i e
@t €, 91 a5 v fRardt §7

A) fomsivardor

B) wTareRs g s

C) Fwrrens fragrdier

D) Fizifaew

103) Who among the following was the first Sultan of
Delhi?

A) Mohammed Ghazni
B) Qutub ud-Din Aibak
C) Alaudin Khilji
D) Aaram Shah

103) FRwferfe & & Reelt F1 wge gear #1917

A) TGS ST

B) Fq9-3%-419 UaF
C) =i faerstt
D) smTmHerTg

104) The Pong dam is constructed on the Beas river 104) T ater & Trea # same 7t 92 F=mam 74w 82

in the state of

A) Himachal Pradesh
B) Madhya Pradesh
C) Uttar Pradesh

D) Bihar

A) fewm=e waer
B) WET WaeT
C) 3T T4

D) faer
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105) Heavy water is generally used by which of |
following industries?

A) Paper factories
B) Automobile manufacturers

C) Sugar factories

D) Nuclear power generation plants

R .

106) What is the name given to the section of the

Himalayas stretching between the Kali and the Tista
river?

A) The Punjab Himalayas
B) The Kumaon Himalayas
C) The Assam Himalayas
D) The Nepal Himalayas

he 105) sy oreft st 9T

_________.—-——"'___

Frerfarfera & e 2T gra
SRR Ry StraT §7

A) ¥ ¥ FTeEm

B) atgw gcare®

C) it % wre@r

D) quoy St Feama 4T

108) 7eft siv dfrea 7t ¥ =t ¥ FRATETT F AT FT FT
T feea aram 27

A) dsiTa fRerer
B) TuTs: Rumera
C) srw Barera
D) et AT

107) Who among the following was one of the major
leaders of the Bhakti Movement in Medieval India?

A) Shankaracharya
B) Kalidasa
C) Swami Vivekananda

D) Swami Dayanand Saraswati

107) weageii s § w36 TS % S0 AT §
q TF i 9T?

A) giTTETE

B) Fferzm®

C) Famft fAasrae=

D) Tt ZaT wTERt

108) GSLV-F10 of ISRO is an upcoming mission to

108) ISRO #T GSLV-F10 fafefea & R s an

explore which of the following? T T o O st fver 22
A) Mars A) ‘i.‘m‘lﬁ
B) Moon B) =&HT
C) Sun c)w
D) Mercury D)4
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109) Which among the following options is one of the
largest domestic communication satellite systems in
Asia-Pacific region commissioned in 1983 and
provides services to telecommunications, television
broadcasting etc.?

A) Aryabhatta
B) KALAMSAT
C) Bhaskara
D) INSAT

109) RrafRrfee & & #i= a1 Bwes ofdar- A o %
1983 ¥ Fefter 1 75 Fad AL T HHTL ITUG TOTTTrAt
# ¥ uF § oie g, Tfae Eer Wife 1 g
ST FLAT 87

A) sz
B) KALAMSAT
C) e
D) INSAT

110) Which of the following is a S-Band Synthetic
Aperture Radar satellite launched by ISRO for forest
mapping, land use and ice cover monitoring, flood
and disaster monitoring?

A) IRNSS-II

B) Megha-Tropiques
C) NovaSAR

D) IRNSS-I

110) =% & FI |7 U - ¥ ERF v e sTE
JT ISRO g1 wie &, qfy IwnT =i angd Fa
e, ate T et et % forg wefee far T
L4

A) IRNSS-II

B) Megha-Tropiques

C) NovaSAR

D) IRNSS-I

111) Who among the following introduced the theory
of the "bicameral mind"?

111) fRefafea & & Bea aeFae ae & R &i
e F1?

A) Fritz-Karl Winkler A) frea-F1et fFaae

B) Julian Jaynes B) stferaw S

C) Frederick Sanger C) Shefts &

D) Douglas Hofstadter D) SH grHeese]

Page 34 of 48 —




112) Who was the First Indian woman to get her M.D
from USA and practiced in India as a physician, as
per Kashibai Kanitnark's biography?

A) Durga Banerjee

B) Sarla Thakral

C) Kadambini Ganguly

D) Anandi Gopalrao Joshi

112) wreftaré sfares A Sftet ¥ AT YT o
TR & ) T Y ATt qaet Aty AR
@mﬁ‘qﬂ#@w%wﬁmﬁm T
& A7

A) T Fesft

B) WA 5T

C) Fafeaet ariveht

D) s iverercrer sreft

113) Who among the following was appointed as the
Chairman of the Simon Commission ?

A) Lord Mountbatten

B) Lord Irwin

C) Clement Attlee

D) Sir John Allsebrook Simon

113) Rrarferfre # & fer =416 1 ATEHT T F e
7 93 fAgsr fa T 917

A) FE qrIzaed

B) @f< sxfamr

C) Tz wzeht

D) |Y S sreas® qreHT

114) Who among the following has been appointed
as the new Chief Election Commissioner of India in
April 20217

A) Sushil Chandra

B) Rajiv Kumar

C) Sukumar Sen

D) Anup Chandra Pandey

114) FrafrfaT & & B e 2021 & T ¥ 70 g=7
FATE AT 6 = # g A man g2

A) gefter =iz

B) Trstig FHTT
OEFCEERIER ]
D) gFHR &

115) Which of the following countries holds the
Chairmanship of ASEAN for 20217

115) A& & & F¥7 |7 291 2021 F v ASEAN
STEETAT T TET 272

A) Singapore A) fiTgE
B) Brunei B) g%
C) Philippines C) forefiete
D) Vietnam D) feraard
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Hill Dam constructed?
A) Damodar

B) Mahanadi

C) Krishna

D) Luni

117) Which part of the human body is affected in
Alzheimer's disease?

A) Heart
B) Lungs
C) Brain
D) Ear

118) The pass which connects Indian state of Sikkim
with China's Tibet Autonomous region and forms a
part of an offshoot of the ancient Silk Road is

A) Shipki La pass
B) Nathu La pass
C) Zoji La pass

D) Muling La pass

D) vt

117) sresrreme T # wre o &7 19 & e sfa
T 82

A) g=a
B) ¥
C) wftqes
D) #1

118) =g wnl F9 &1 § St Wiy ey Afgm Fr AT 5
T wamar & & Sigan 2 sy feF TR Fir uF
SLITET FT BT a9ar g?

A) foradf @ a7t

B) Ty @71 3

C) Ssft &7 &2

D) gfeir @ 22f

119) What is Enovid-10?

A) World's first commercially produced birth-control
pill

B) The first domestic robot developed in United
States of America

C) The first bullet train inaugurated in Japan

D) World's first Mini computer developed by IBM

119) Enovid-10 Fa1 2?

A) AT it ggelt aEEET & 4 ganed w Fow
et

B) €Y= ToT AHRFT # A ager sig Tare
C) SITIT ¥ Igfed Tget qote o
D) IBM g e g 1 ager fast Fegee
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120) Identify the scheme undertaken by the 120) Tfarc 2020 7, T 7% #t gt aEfafrd
Department of Food and Public Distribution o ensure gy =~ - fayer wrreer 28 Tyt # @ FY T, A
nationwide portability of the ration card and has been sji¢ e Freror T FTT OE # 7 Arorar Fi
implemented in 28 states of India as of November s 2,

2020.

A) One India Card scheme

B) One Ration Card Across India scheme
C) One Nation One Ration Card scheme

D) One Ration Card One India scheme

A) TF TTe HTS AT

B) T W 3 e e FrE A
C) U 11y 1w A FTS A
D)Eu&mmﬁwm

121) In Excel, every formula starts with
A) equal symbol

B) plus symbol

C) at the rate symbol

D) less than symbol

121) i &, ey e fAEfRTad ¥ 61T IR AT
A) Tt #1 R

B) =t T e

C) ez e e

D) #g &7 e

122) Which among the following is a software
program that enables internet users to access,
navigate, and search World Wide Web sites?

A) Cookie
B) Firewall
C) Browser

D) Database

122)ﬁuﬁrféﬂifﬁqﬁ?mmmm.ézﬁz
ST A der 1 ATed AT AR aF T, AT
FOY 3l @re FEA H qEH FATAT 87

A) T

B) wTHTATd

C) A

D) Fera

123) Excel sheets, Word processors, Web browsers
are examples of

A) System software
B) Application software
C) Software mandal

D) Programming language

123) TR dE, 7€ v, A e
TR &7

p) foren ST

B) wfteherd T

C) wiweaat AT

D) shrarTfeT St
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124) Hangouts is a communications platform that

“124) oz v e = & S A FAT, T

combines video calling, voice calling and text-based T s Yaez-aafia @2t F1 TF & aar F Sr=ar g

messaging into a single service. It is developed by:
A) Oracle

B) Google

C) IBM

D) Apple

125) Which of the following refers to an object hiding
its attributes behind its operation?

A) Polymorphism
B) Encapsulation
C) Inheritance

D) Class

7z R (o) fm man €
A) A gTaT
B) Tt gama
C) IBM gamr
D) Teqer gamar

125) Rrefrfee & & 8 slfeae #1 44q FL4 3 5
¥ sy HaTe ¥ e aoeft fRdraaT Rame w@ar 27

A) i

B) Trhegei e

C) st

D) wTE

126) In MS Excel, what does the option 'Merge

Across' do?

A) When a multi-row range is selected, this
command creates multiple merged cells, one for
each column

B) When a multi-row range is selected, this
command creates multiple merged cells, one for
each row

C)When a multi-row range is selected, this
command creates one merged cell for all the
rows

D) When a multi-row range is selected, this
command creates multiple merged cells, five for

each row

126) ATFETTE TH H, WO UHE fawew 7 FLaT1 87

A) e UF HeEI-0 31 avee R e g, 91 a8 $9ie
TAF FAH ¥ U UF qedige g9 9 &1 HA
FATY

B) W&l UF Heel-U < ¥ f3har Sram g, av ag w9
TF U F o v wediae ast a1 F7 Fufor swar

C) 5ia UF Hedl-A ¥ dwwe fray stman §, & 78 wwie
a+ft T ¥ g o wediaer vt & F1 Ao Far g .

D) ST& UH A0 I Aot ¥ s 8, A ¥g e
AT I F I i Aedtaet wot &= 7 fAwior swar €
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127) What does Bcc stand for in Email?
A) Bulk Custom Copy
B) Bring Create Copy
C) Blind Carbon Copy
D) Blind Create Copy

127) €31 ¥ Bee F #4T 34 87
A) T F2q Fidt

B) fifr fkuz =ift

C) ST FTe FIdY

D) s=rgE fkge #idft

128) Which of the following involves the execution of 128) fRrsrfarfre & & fwr fAferer Frat #1 fFAare mfas
various tasks, such as creation of processes, &, & wfaarai %t fwmfor, sfareit F1 Fafor, w7
scheduling of processes, management of deadlocks warer st wfgmareir £t aaTfa?

and termination of the processes?
A) Memory Management

B) Process Management

C) File Management

D) Device Management

A) Y faerie
B) sraw farie
C) wrEe e
D) fRamzw &z

129) Which of the following fields is/are available in 129) Fwferfm ¥ & 7 qU/& Hies AT 2T F IUo=

an Email header?

(i) From
(i) To

(iiii) Subject
(iv) Save

A) (i), (ii) and (iii)
B) (ii), (iii) and (iv)
C) (i), (ii) and (iv)
D) (i), (iii) and (iv)

e

(i) From
(i) To

(iii) Subject
(iv) Save

A) (i), i) 3 (i)
B) (i), (iii) 3 (iv)
C) (i),(ii) 3T ()

D) (i), (iii) 3% (iv)
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130) Which of the following functions is done by a 130) frerfarfire & & Fra-aT F74 / AT ATEA I
Microphone device? SUFTT ZT A 21T 27

A) Converts sound waves into electrical signals A) safa qai #r e i F afafaa T 5

B) Draws lines or figures on a computer screen B) #qet & o et AT %ﬁ.ﬁ AT

C) Detects alpha numeric characters printed or C)@ngﬁmﬁammqﬂﬁiﬁﬁmw
written on a paper

RRLCIE
D) Reads bar codes and converts them into electric D) a1z e F7 7241 & 3T 3= f3=@ 9od § Tafq
pulses FLAT 2

131) Which of the following options is a service that 131) fwfafag § & = a1 FFeT TF eI
allows the user to send a message in electronic mode ITFRTFAT T T2TAT UL FAFHITAF GIe H HeT Joid Hi

over the internet?

g sy F7ar £7
A) Email A) TR
B) SMS B) SMS
C) Speed Post C) vtz g
D) Register Post D) Thr=T T

132) In an Email address, which of the following 132) $#= wgw &, fFwfefaa & & fFg B 1 swam

symbols is used to separate the username and the FTF ST AH T STHA AR FT T AT 1T 272
domain name?

A)! A)!
B) # B) #
C) & C)&
D)@ ik D)@

133) In MS Excel, which of the following cell formats 133) #rEhiaTee TF &, Fraforfee o yreat & & #4

should be used for exponential data? T TR 227 % forg Iag fw st SrfRu?
A) Fraction A) ST

B) Special B) TS

C) Scientific C) "TEfeith®

D) Custom D) #&H
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134) In MS Word, to set the gutter margins, which of 134) wrzgrate a2 #, 7 il A2 F F fom,
the following positions are available in the 'Gutter frwfifa fafaat # & #I7 AT T S atew &

position' box? Iy 87

A) Left and Right A) A% UT TI5e
B) Left and Top B) fwe UT 2i7
C) Left and Bottom C) 9w Ug qfeq
D) Right and Top D) T3z Uz Zi7

135) Which of the following is NOT an impact printer? 135) frsrfarfr & & i wa geiere ffze 78 27

A) Drum printer A) 37 ffex

B) Dot matrix printer B) =tz #fgw fifex

C) Ink jet printer C) g% fifex

D) Daisy wheel printer D) Ssft =ter fifex

136) What is the full form of E-mail? 136) E-mail FT T0f &7 7 &7
A) Extreme Mail A) TFEEH A

B) Electric Mail B) gerfag® A

C) Electronic Mail C) TgifA® 7

D) Extraordinary Mail D) Tl A

137) Which of the following means attaching a 137) Frwfoifra & & et werera T 2Tew WX #9r e

message to a method at run time? FTAT &7

A) Static Binding A) Rfew arfET

B) Messaging B) #&f

C) Dynamic Binding C) sraafas argfen
D) Association D) srEfRQe
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138) Binary number system is also called as the

A) base-2 number system
B) base-8 number system
C) base-16 number system

D) base-10 number system

———--..______-__— e —

138)wﬁwmﬁﬁﬁﬂ€"ﬁﬂ%g
A) F 2 G woTTET
B) &% 8 gy sorreht
C) 3% 16 weqr yorreit
D) s 10 gy sorret

e

139) Which of the following types of memory must be 139) Xzt 7y s T ¥ o, AafafRa & ¥ g v

continually refreshed in order to maintain the data?

A) PROM
B) SRAM
C) DRAM
D) ROM

F FEE 7y wperraTe Adper far AT ATRY?
A) PROM

B) SRAM

C) DRAM

D) ROM

140) Which of the following devices is used to print 140) frrifi & & eS0T #1 TaRT Rt 49 47 377
very large drawings or complex line art by SUF<Ur & wF FT ¥ IHT ¥ Hag W AAF T G
mechanical movement of a pen or other instrument srid T arCET AT A AT AE FT e F04 7 a0

across the surface of a piece of paper?
A) Line Printer

B) Ink jet Printer
C) Scanner

D) Plotter

ST 2
A) e fiex
B) &% Se fiex
C) T
D) =eT

141) Which one of the following is the binary 141) Raferfeaa # & wiw a1 arswdl, zemrera i 147 5

equivalent of decimal number 1477

FOET g?

A) 10010011 A) 10010011
B) 10011011 B) 10011011
C) 10110011 C) 10110011
D) 10001111 D) 10001111
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142) A process requests resources, if the resources 142) us yfar darert 71 FT0T ot 8, IR IM AT
| are not available at that time; the Process enters a e gyerser =t &; s srfter 1 feafat & qaq FA
waiting state. Sometimes a waiting Process is never & st sefiwr wiar Ft ot Faear FY a@ww 7
again able to change state, because the resources it mer g 2rft &, Fiif Ta% &I FrQfera aaTaAT Ht
has requested are held by other waiting Processes. sy wefter sfasit grer AraferT 341 9mar 1 g feafd

This situation is called a FAT TR & ?

A) Preemption A) g

B) Mutual exclusion B) e v
C) Deadlock C) I=ts

D) Circular wait D) s ae

143) Which storage medium is fastest and 143) F-a7 SR AT FEY Fo7 AL FTET 87

expensive?
A) Hard disk A) BE =
B) Read only memory B) T st A\
C) Random access memory C) ¥eu vy AHIE
| D)cCache D) e

144) Which of the following is NOT TRUE about 144) faffEfiRa ¥ & $17 RAM (I3) F ax # a8t

RAM? e

A) RAM stores the data permanently even if the A) RAM () FoET ¥ 92 g 9T ot e i wmrft 9
computer shut down. ARRFE@R

B) RAM is mainly categorized in to two types SRAM  B) RAM (o) #1 7EeIT: SRAM 3l DRAM, 21 9% §
and DRAM aeftepar T AT R

C) RAM is a read/write memory C) Ram (&%) T% ds/rse Fmrdt &

D) RAM is the internal memory of the CPU for D) RAM (¥) 22T, SR &R S Reree #1 &)+

¥ frg CPU #t atiafis aurdt &

storing data, program, and program result.
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145) Which social media site primarily provides g 145) %t oft dyerer MfRAT w152 T&T F7 CEARRIR
way to connect with professionals around the worlqg Ty S FT TH TUH T Fat &, e Fafo
and is specially designed for exchanging knowledge, a9y =y F 5T 4T RBAET 1 AEE-NEH F 3k
ideas, and employment opportunities? -emm ¥ sraar T w0 ¥ forg e U
A) Facebook A) ¥
B) Instagram B) Semums
C) LinkedIn C) ffree
D) WhatsApp D) =ereerey
146) Select an absolute cell reference. L}E} T T YT A
AJ1AN A) 1AM
B) $AS$1 B) $A$1
C) #ait C) #a#1

D) A1 D) A1

147) Which drive is made up of series of circular 147) #7-#t g1ea, @rex AT g ¥6F 1 5@ &

disks called platters? AT greft 272
A) Floppy disk drive A) wrdt foww g
B) Solid state drive B) "ifere w2 grga

I C) Hard disk drive C) & Rew grz9
D) Static disk drive D) wfew fow grzw

148) In MS Word 2016, by default the height of the 148) TATE =¥ 2016 #, Rwiee w7 ¥ giv Fv Sz 77

drop cap letter extends to

¢ s B wt o A 7

A) 3 lines into the paragraph A) &I ¥ 3 T3 aF
B) 5 lines into the paragraph B) %CTITE & 5 W1EH aF
C) 2 lines into the paragraph C) T § 2 A1gH 9%
D) 4 lines into the paragraph D) TITE A 4 AT %
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149) Which of the following types of scanner reads 149) fasr # & & THTT T ThAL T FIa &t Ggraar
sharacters, marks and codes with the help of a light & af, s 3ire v v & i AR Tt § AEg Ay
source and they are used for objective type answer w# ¥ gae WAl ¥ fAC ITH g T smar §7

papers in competitive examinations?

A) Optical Character Recognition A) itfser et e 2

B) Optical Mark Recognition B sitfoeee W Rt )

C) Optical Barcode Recognition C) itfersrer arcare RepifaerT . )
D) Magnetic Ink Character Recognition D) i g% Faex Riaa

v
t

150) Which one of the following options extends 150) Pwfarfea & & # w7 fweq afeds Jead
private network across public network, enables users STEae Yok 7 RreTT FaT 8, SuATTHATAl 1 W ar
to send and receive data across shared or public afees Yea$ T T2 Ao M IH 7 7 FEH FATAT 87
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networks?

A) Local Area Network A) ST TicaT Aza < \
B) Virtual Private Network _ B) aeret STEAE A2AH

C) Enterprise Private Network C) UzTaTEs WTAE A+

D) Storage Area Network 0y~ D) TR TRAT Aed
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